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prep

1(a) f(x) =sin cost

4

N)=cos(cos
meteriesofenter--

1(b) y =tangyPrestan (a (sine]

y
=se"(s(x).q(- (sinx)

-

y.cosx
Match. O.K.

orchain Rule +QuotientRule

y
=secx).

siux.0-9.cosX
=secix).

-

gcosxsin?X

(()g(t) =seckty

g'(z) =(9
+ cost)(secGit2) tauGt4. (147) -(8+ secCTEY). fsint

Do Notsimplify
9 +cost2

2. f(x) =c0s"(2x) +tan(2x) +sin(6x) + .5.xEndf')
preps (cos(2x))

f((x) =2cos(2x)fsin (2x)).2 +sec" (2x).2 +6c0s16x) +5
=
- 4cos(2x)sin(2x) +2sec2(2x) +6c0s(6x) +5

fTj = - 4c0s2.Isin2. +2se2.I +6c0s/ +5
33 3

it
1E 12) - 1

sinI +2 sec#= -4csI
3 3

+6cos(+) +B

= - 4 +1 +2. 4 - 6 +53 =

- 13 +8 - 6 +5 =2



3. Diagram station X B
11 1a| 1 1

⑦

10 ④
z

S

Variables Letx =Distance between Train andStation

z =Distance between Bob Contrain) andSally
O =AngleofBob's Head Rotation from Track Line

Given E=- 2 Radians/second
Find ** =?When z

=13 meters

Equation tanE=%

↑ferentiate tant= 105)

sec8.E = - 10x-
se8"dE =to t

Extra Solvable Information

X C (372- 40)2 =169- 100 =5

10 13 >set
=s8 =(yi =

Substitute

-3 ? (2) = - jp.**
r 9(- 2)

=

0. e

solve

E =5XX.*, =19 me

Answer

The train is travelling 9 meters
every second

atthatmoment.



4. sin (7) = - I<-
⑰

point(x,y758, , 1
- "E

cosine sine

5.cos(5) = - t

Point (x,y) = -z,E

cosk sAB (1,83-
1x

3. f(x) =cos(ix) +cos(6x) +sin (3x) +sin (4x)

f'(x) =- Tsin(7x) - bsin(6x) +3c0s(3x) +4cos(4x)

fE =

-sins- 6 sinb +3c0s3 +4cos I
T ⑧ ⑧

1
-z

=- Tsin?-bsin+ +3c0s+4cos
see 4. above see 5. above

=z +0 +0 - 2
=1 - 2

=1 - z=



7. f"(x) =20X +(2x2 +4 f (0) =8 andf (1)=5

f'(x) =(f"(x)dx =(20x3+12x+4dx constant

4
=(** +1253 +4x +0 note: nof' info given

f(x) =(f '(x)dX =f(x++4x3 +4x +C

2
V

New Constant!
=(*y+y*,+y1+(x +DR Use both initial

conditions to solve
⑧ for (andD

=X5 +x4 +2X-+(x +1

f(0) =0 +0 +0+0 +pE8 => D=8

all 0

Set

f(1) =1 +1 +2 +2+8 =5 c +12 =5 => c
=
-7

4

Finally,
f(x) =x +x"+2x

-

7x +8

split-split

- 4(3 - 7

8(a) a 0X
-Ya
+ *ax=jaxix # ↓ dX note:All Algebra

x"e X2 Prep

xz
Recall:
*
=ya

- b

- 8/3 -2/2
=(4x,y0x +

X dx

X3/6 X "2

A-
- - -E-I

=(x- 10 +8x-(b +x
-

ax

10
9/1056 - 5/7 - 2 - Yz

= 7X + 8x +X + C

9/102 - 96
a
- 12

=70x90 - 18x
-50
- 2x-

or =28x90 - 483, - +



dX8(b)(8 + x-(4,ax=(5x - 1,2," +10 - xy-4,y-x-=x y- =xx

=(5X - Bx
-

+x
-
-

- x-39dyprep

=Bx
-

rx + . -Ared c
flip

=

(x
-

15x -

1 =7x-
it a

9.
max height

So=?9 Equations ofMotion

V

a(t)= - 32 Given:v(0)=80 f+1sec
v 80

V v(t) = - 327+ v(timpact) = - 1/2 ft/sec
impact 80 ?

S(t) = - 16t" +Xt +so Find:So
=?

Impact:
V(timpact)=- 327 +80set- 112

-32t =192

timpact =192=6 seconds

Plug impact =6 seconds into position andsetequal to

Thatis, s(timpact) =S(6) =0

s(b) =- 16(6)" +80(6) +S0 =0 note: So only unknown
- 576+488 +50 =0

- 96+50 =0 36i
=>so =96 feet 50

576

Answer:The building is 90 feettall


